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QUESTION 1

You need to synchronize all unsynchronized changes of the remote GIT branch with a local GIT branch. Which
operation do you use? 

A. Pull 

B. Push 

C. Rebase 

D. Reset 

Correct Answer: B 

 

QUESTION 2

Which join type is NOT supported by join optimization (pruning)? Please choose the correct answer. 

A. Text Join 

B. Referential Join 

C. Outer Join 

D. Inner Join 

Correct Answer: D 

 

QUESTION 3

You need to combine data from different database tables within your OData service. Which capability do you use for this
relationship? 

A. Projections 

B. Associations 

C. Aggregations 

D. Entity sets 

Correct Answer: B 

 

QUESTION 4

Which parameters does the APPLY_FILTER function support? There are 2 correct answers to this question. 

A. Entity set 
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B. Join condition 

C. Table variable D. Filter condition 

Correct Answer: CD 

 

QUESTION 5

What do you reference in a role template? Please choose the correct answer. 

A. Roles 

B. Routes 

C. Role Collections 

D. Scopes 

Correct Answer: C 

 

QUESTION 6

What characterizes the Node.js environment? Note: There are 2 correct answers to this question. 

A. It uses a synchronous programming model. 

B. It is a client-side design-time environment for JavaScript. 

C. It is built on Google\\'s V8 JavaScript engine. 

D. It is single-threaded. 

Correct Answer: CD 

 

QUESTION 7

You need to view the data model exposed by an OData V2 service. What must you append to the service URL? 

A. $servicedefinition 

B. $schema 

C. $metadata 

D. $format 

Correct Answer: C 

 

QUESTION 8
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You create an SAP HANA extended application services, advanced model (XS advanced) multi-target 

application. 

What does the mta.yaml file contain? 

A. The plugin name and version for every supported file suffix 

B. The Node.js package definition with dependencies and initial run configurations 

C. The application global elements, modules, resources, properties , and parameters 

D. The application router description with the authentication methods and access routes 

Correct Answer: C 

 

QUESTION 9

What are the disadvantages when deploying Dynamic SQL? There are 2 correct answers to this question. 

A. No possibility to use SQL Script variables 

B. No possibility to bind the result to a SQL Script variable 

C. Additional SQL execution privileges are required 

D. Limited opportunities for optimization 

Correct Answer: BD 

 

QUESTION 10

Which of the following joins can be defined only with multi-column join in calculation views? Please choose the correct
answer. 

A. Temporal join 

B. Dynamic join 

C. Text join 

D. Multi join 

Correct Answer: B 

 

QUESTION 11

Which parameters do you need for the APPLY_FILTER function? Note: There are 2 correct answers to this question. 

A. Filter condition 
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B. Dataset 

C. Join condition 

D. Entity set 

Correct Answer: AB 

 

QUESTION 12

Which are the artifacts that are contained in an SAP HANA Deployment Infrastructure (HDI) container? Note: There are
2 correct answers to this question. 

A. JavaScript programs 

B. Data services 

C. SQLScript procedures 

D. Table definitions 

Correct Answer: CD 

 

QUESTION 13

Which GIT commands are available with the SAP Web IDE for SAP HANA? Note: There are 3 correct answers to this
question. 

A. Redeploy the code 

B. Clone a repository 

C. Merge changes 

D. Push code 

E. Test changes 

Correct Answer: BCD 

 

QUESTION 14

You need to manage an exception in a SQLScript. 

Which SQLScript features can you use? 

Note: There are 2 correct answers to this question. 

A. CREATE EXIT HANDLER 

B. DECLARE EXIT HANDLER 
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C. SIGNAL 

D. DEFINE RESIGNAL 

Correct Answer: BC 

 

QUESTION 15

You develop a Node.js application for the SAP HANA platform that executes a SQL statement in the SAP 

HANA database. 

Which modules do you use? 

Note: There are 2 correct answers to this question. 

A. @sap/xsenv 

B. @sap/hdbext 

C. @sap/node-vsi 

D. @sap/instance-manager 

Correct Answer: AB 
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